Elaborate:  Change in Cheetah Population
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The cheetah (Acinonyx jubatus) is a large-sized feline (family Felidae) inhabiting most of Africa and parts of the Middle East.  They are carnivores, eating mostly mammals under 40 kg (88 lb), including gazelles, springboks and impalas.  Cheetahs likely evolved in Africa during the Miocene epoch (26 million to 7.5 million years ago), before migrating to Asia.  Recent research has placed the last common ancestor of all existing populations as living in Asia 11 million years ago.  

The fossil record has shown that the bones of cheetah forelimbs in populations that lived millions of years ago were significantly shorter and thicker when compared to the longer and thinner bones in their forelimbs today.  See the diagram below.  
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Using the theory of evolution by natural selection, develop one of the following products:

1) Write a children’s story that explains how and why the forelimb bone structure changed in the cheetah population over time, using characters and visual references.  

2) Develop a geographic map with written explanations, a timeline, and visual cues to explain the evolution of the cheetah.
3) Develop a formal research presentation with oral explanations and visual references that explains the evolution of the cheetah population.  

4) Develop your own product that explains the evolution of the cheetah population (get teacher approval first!).  

	Rubric

	Criteria (15 each)
	Advanced (15-13)
	Proficient (12-10)
	Developing (9-0)

	Natural Selection Concepts 
	All four natural selection concepts are incorporated and used accurately within the product.  
_____


	Three natural selection concepts are incorporated and used accurately within the product.  
_____

	Two or one natural selection concepts are incorporated and used accurately within the product.  
_____


	Information 
	Information is logically connected and represents current understandings of cheetah populations from the scientific community.  
_____

	Most information is logically connected with some confusing features, and/or most information represents current understandings from the scientific community. 
_____
	Some information is logically connected with many confusing features, and/or some information represents current understandings from the scientific community.
_____


	Creativity 
	Product demonstrates significant creativity with the use of unique visual references and/or interesting characters. 
_____
 
	Product demonstrates some creativity with unique visual references and/or interesting characters. 

_____
	Product demonstrates little creativity with unique visual references and/or interesting characters. 

_____

	Contribution 

	Learner demonstrates specific contribution; receives mostly 4’s and 5’s from other team members.  
_____

	Learner demonstrates general contribution; receives mostly 3’s and 4’s from other team members (some 2’s). 

_____

	Learner demonstrates little contribution; receives mostly 1’s and 2’s from other team members. 

_____



TOTAL:  ______________
